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o @akanksha4264 2 hours ago 2 :z- 23

Thank u so muchh sr for this very amazing and wonderful session ., + « ST €k din aap plz mixture
and alligation ka bhi topic krwa dejiye sr usme bhut confusion ho rha aur achhe se wo topic na aa
rha h TQ so muchhh sréy dy & &
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@.. @aishikaghosh9030 20 hours ago

J Sir Properties of Triangle krwa dijiye... plzzzz J, #a

! GF Renly
@storyboy.. 19 hours ago
Yess...
e P Renly
@surbhisinha7315 20 hours ago
Sir advance maths kb revised hoga
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é @Bittu_kumar639 18 hours ago
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In a sale transaction, the seller marks the goods more than the cost price in order to
earn a profit. This addition to the cost price 1s called the mark up price and this mark

up value added to cost price i1s called the Marked Price.

A\W\o'/.
MP = MRP = Listed price = labelled price _
C?___ \OO »/' mi/Z\U\O/

Discount 1s always given on ‘Marked Price’ (MP).

MRP is always 100% 1n the case of discount.
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CONCEPT OF DISCOUNT
me% SR X\eo \CP “<0 y\\o?\
\av-O /b : \oot 08 \o4
In case of no discount - —

MRP = SP
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price and still gets a profit of 18%. Find the Marked Price of the article?
A 3ifehd Ted W 20% hl B < ok 518 Teh oT&] shi 1080 TUA W slerdT g M T
T 18% SRT TTH UTH SHIAT 5| & T Jifehd Hed ATd shitaA?

S .f=7

W MRy = \oo 7/ O/ = 2°7

MRR= _SZDE AT
T
2

S g ﬁ— b) Rs. 1500
77N . ==
( T #3 r \> . \///

/ o2 ¢) Rs. 1200
N d) Rs. 1600
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A shopkeeper allows 23% commission on his marked price and still makes a

profit oif he gains the item. Find the marked price of the item

?

Teh ehTER AU SR Hedt Ux 23% HHI9 T SFATATT a1 & R foie ot 10%
KT ATH HATAT | Tl T T UL 56 TUA AT UTH h{dl &1 T hT Siiehd Tod

T Y ? CP‘T;X"?
mep=lcoy. Dir=o3y S= T c:
MUV — 307
\ 0/ ——Sé a) 650 —
\oo/.= S60 ¥ | b) 700
SY: iégs;ﬁ 70
oo d) 800
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A man marks his article such that he can make 32% profit after giving 12%
discount. However a customer availed 20% discount instead of 12%. What is

the new profit% on article ?

e STt 7o g wht e farfea e § fon s 1200 3 4 ame 32% @

o — V> oo
AT ATHY, S %??_3&% <o-\23. WO = JEI A 5oy
QQ - %B{Z

— %0
A@AW’V’ \S A+ a) 15%

&
- \Se _3() b) 25%
( /7 ."ﬁ . 0) 20%

R Y d) 25%
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Ramesh sold one fourth of his article at 20% discount, one third of his artlcles
et 0

at 15% discount and rest at 30% discount. Find the discount percent he has

given on whole lot?

THIT = 7Y ITUTS T Teh TTAT3 AT 20% Be W, T fagts T 15% Se W
s ITo(30% e ill'wﬁﬁmmﬁﬁﬁuﬁmﬂa‘ﬁ CCRiLT

TPRR =
| 3@ \\ e \
“cO*‘g SEHH

"AN= 3

ok @
asmzan 6+g+\8- S+ b) 16.5%
Vool ) RN )

S A& ~835.4) 24.5%

)d(l
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at the marked price one quarter at a discount the marked price

and the rest at a discount of 40% on the marked price. His total gain is

T TarshdT 37U T i 38eh shd Hod ¥ 20% 3FTereh UX Jifehd ohddT & 387
HATYT THTT FHThd Hed U o STATE AATT ek T W 20% hT TS h
T 3T 9 okt 3fehd Hed TR 402 %&%wéaﬁaTs«ml HeT AT TTa9Td

_\oo”/ R =Tsev.
=\
v e o | 2 \ @\
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To decide selling price, cost price is increased, how much percent so that 20%

would have been gained after giving 10% commission?

forshl Hoar a7 ot o ToTe e Hear | fehraer rfarsta <t afeg st STt 2, atfens 10
TS SHHIIT S o TG 0% HT ATH UTH BT Tk ?

Q= oV == \So7-

> Fb) 3333%

C) 0
d) 66.67 %
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X and Y both sell the same product . The marked price of the product is
28000. X gives a discount of 10% on whole , while Y gives the discount of 12%
on the first Rs. 20,000 and 8% on the rest of Rs. 8000. what is the difference
between their selling price ?
X 3R Y Teh THTT T hl 9d § 39 T T 3Tohd T 28000 T | X ITH Het
10% T TE AT 2 TR Y Tget 20,000 T 10% Y T€ 30T 2 3R AT 8000 T 72 8%
<hT D ST 3 A1 T oh Torshal Hed ohT 3R T <hifsTd ?

= 29000 %\ WD a) 240
o0 R\ ReooK B b) 300

e

d) 140
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A shopkeeper makes a profit of 20% even after giving a discount of 10% othe
marked price of an article. If marked price is Rs. 500, then the cost price of the
article is:

Ueh TSR Ueh S oh 3 Tohd Hed WX 10% hY B 37 o a1S Y 20% T o1
HATAT 2| AT S TRd AT &. 500 8, A IE] 61 hdl Hod @

ML = =7
<f = %"‘k’* %F O
o - S 22FS a) 240

b) 350

(i : \> jﬁ c) 450

L ()

= ‘/
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A shopkeeper gets a profit of 20% even after giving a discount of 40% on

marked price, Calculate the profit percentage if no discount is offered
3iToRt Ted WX 40% T BE I o T8 Wi T FHRMER T 20% T ATH BIAT 8, IS
1S B TET & AT § A w1 frera <y worT 8

\S2 /-
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A shopkeeper gets a profit of 20% even after giving a discount of 40% on

marked price, Calculate the profit percentage if no discount is offered
3iToR Wed WX 40% T BE I o T8 Wi T FHRMER T 20% T ATH BIAT 8, AT
IS T TET &Y AT § AT ATH U197 hT 0T Y

a) 240
b) 350

\> c) 450
N d) 375

;
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